Page. d.

SECTION	(1) DEPTH OF CUT	(2) WIDTH OF CUT AT BOTTOM	(3) WIDTH OF CUT AT TOP	(4) NO. OF CUBIC YARDS TO BE REMOVED	(5) Estimated Cos Per Cubic Ya		and Expenses of Insp	(6) ses, Including Preliminary Expenses secting Work until Completed stal Per Section	(7) Total Estimated Co per Section
	•				\$ CT	rs.		\$ CTS.	S CT
Between Stake No. 0.	5.6 ft.	4.0 ft.	15.2 ft.		WINDOWS PROPERTY OF THE PROPER			2 00	
and Stake No. 1.	5.9	4.0 "	15.8 "	207.7	1	.0 \$	20.77		\$ 22 7
Between Stake No. 2.	5.4	4.0	14.8 0	202.1	**************************************	.0.	20.21	2 00	22 2
and Stake No. 3.	5,3 "	4.0 "	14.7	185.3	1	.0	18.53	2 00	20 5
Between Stake No. 4.	5.4 "	4.0 *	14.8 "	185.3		.0	18.53	2 00	20 5
and Stake No. 5	5.9	840 "	15.8	202.1		.0.	20.21	2 00	22 2
Between Stake No. 6.	6.7 ",	4.0 "	17.4 "	240.9	PROPOSITION THE PROPOSITION OF T	.0	24.09	2 00	26 0
and Stake No. 7	6.7	4.0 ".	17.4 "	265,5	A Commission of the Commission	.0	26.55	2 00	28 5
Between Stake No. 8.	5.9	4.0 "	15.8 "	240.9	1	.0	24.09	2 00	26 0
and Stake No. 9.	6.1 "	4.0 "	16.2 "	222,2		.0	22,22	2 00	24 2
Between Stake No 10.	6.1 "	4.0 "	16.2 "	228.2		.0	22.82	2 00	24 8
and Stake No11.	6.0 . "	4.0 **	16.0 "	225.2		.0	22.52		24 5
Between Stake No.12.	6.0 "	4.0	16.0 "	2,2.2	11	.ŏ	22.22	2 00	24 2
and Stake No13.	6.0 "	4.0 "	16.0 "	222.2		.0	22.22	2 00	24 2
Between Stake No14.	6.2 ",	4.0 "	16.4 "	228,2	1	.0	22.82	2 00	24 8
and Stake No15.	5.7 "	4.0 "	15.4 "	213.9	1	.0	21.39	20	¢ 23 3
Between Stake No16.	5.8 "	4.0 "	15.6 "	202.1	1	.0	20,21	2 00	22 2
and Stake No17.	5.8 "	4.0 "	15.6 "	210.5	1	.0	21.05	.2 00	23 0
Between Stake No18.	6.1 "	4.0 "	16.2 "	219.8	1	.0	21.93	2 00	23 9
and Stake No19.	6.8"	4.0 ."	17.6 ."	250.1	1	.0	25.01	2 . 00	
				4,173.9		\$	4 17.9 417.39	\$ 38.00 Out of Whole Work	. ,

Page. 2.

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in ______ Ditch No. 53. ____

	(1)	(2)	(3)	(4)	(5) ·		(6)			(7)
SECTION	DEPTH OF CUT	WIDTH OF CUT	WIDTH OF CUT AT TOP	NO. OF CUBIC YARDS TO BE REMOVED	Estimated Cost Per Cubic Yar		Character of Other Expenses, Including Preliminary Expenses and Expenses of Inspecting Work until Completed With Total Per Section			Total Estimated Cost per Section
					\$ CTS	s.		\$ C1	rs.	\$ CTS.
Between Stake No. 20.	6.1 ft.	4.0 ft.	16.2 ft.	250.1)	\$ 25.01	2.0	00	27 01
and Stake No. 21.	7.4	4.0 "	18.8 "	270.3	10	il.	27.03	2	00	29 03
Between Stake No. 22.	7.1 "	4.0 "	18.2 "	302.1	10	o	30 21	2	0:0	32 21
and Stake No. 23.	7.0 "	4.0 "	18.0 "	288.5	10	0	28.85	2	00	30 85
Between Stake No. 24.1	7.7 "	**************************************	19.4 "	309.2	10	0	30,92	2 (00	32 92
and Stake No. 25.	7.9 "	4.0 "	19.8 "	341.0	10	0	34.10	2 (00	36 10
Between Stake No. 26.	7.6 "	4.0 ",	19.2 "	338.4 "	10	0	33.84	2 (00	35 8 4
and Stake No. 27.	7.2 "	4.0 "	18.4 "	313,7	10	0	31,37	2	00	33 37
Between Stake No. 28.	7.3	4.0"	18.6. "	302.1	10	0	30.21	2	00	32 21
and Stake No. 29.	8.0 **	4.0 "	20.0 **	330.5	10	0	33.05	2 (00	35 05
Between Stake No. 30.	9.5 "	4.0 "	23.0 "	415.2	10	0	41.52	2	00	43 52
and Stake No. 31.	9.4 "	4.0 "	22.8	470.7	10	a	47.07	2 (00	49 07
Between Stake No. 32.	7.6	4.0 "	19.2 "	396,5	ic	11	39.65	2 (00	41 65
and Stake No. 33.	7.6	4.0 ",	19.2 "	326.5	10	0	32.65	.2	00	34 65
Between Stake No. 34.	7.9 "	4.0	19.8 "	337.3	10)	33.73	2	00	35 73
and Stake No. 46	8.0	4.0 "	20.0	_161.9	10) [16019	1110	<u> </u>	17 19
Between Stake No.				5,154.0		\$	515,40	\$ 31 (0(\$	5 46 40
$and\ Stake\ No.$										546,40
Between Stake No.						ATT IN COLUMN TO STATE OF THE PARTY OF THE P				-
and Stake No.					dent sometimes of the second	and the second second		The control of the co		

Page. No. 1.

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in Ditch No.// 53. //

	(1)	(2)	(3)	(4)	(5)		(6)	(7)
SECTION	DEPTH OF CUT	WIDTH OF CUT AT BOTTOM	WIDTH OF CUT AT TOP	NO. OF CUBIC YARDS TO BE REMOVED	Estimated Cost Per Cubic Yar	and Expenses of Inspec	s, Including Preliminary Expenses sting Work until Completed al Per Section	Total Estimated Cost per Section
				andominy voices of the first later of the content o	\$ CTS.		\$ Ств.	\$ CTS.
Between Stake No. 0.	5.1 ft.	4.0 ft.	14.2 ft.					
and Stake No. 1.	6.1	4.0	16.2 "	200.00	10	\$ 20.00	2 00	\$ 22 00
Between Stake No. 2.	7.0 "	4.0	18.0 "	156.6	10	25,66	2 00	27.66
and Stake No. 3.	7.0 "	4.0 "	18.0 "	244.4	10	24.44	, 2. 00	26,44
Between Stake No. 4.	6.0 .*1	4.0 "	16.0 "	253.7	10	25.37	2 00	27 37
and Stake No. 5.	5.9 "	4.0 "	15.8	219.4	10	21.94	2 00	23 94
Between Stake No. 6.	6.8	4.0 **	16.6	228.3	10	22.83	2 00	24 83
and Stake No. 7.	6.2 *,	4.0 "	16.4 "	237.3	10	23.73	2 00	25 73
Between Stake No. 8.	6.4	4.0	16.8	4340.3	10	24.03	2 00	26 03
and Stake No. 9.	6.5	4.0 "	17.0	249.7	10	24.97	2 00	26 97
Between Stake No. 10.	5.3 "	4.0 "	14.6 "	217.7	10		2 00	23 77
and Stake No. 11.	6.1	4.0	16.2	295.4		21.77	2 00	2 2 54
Between Stake No. 12.	'	4.0 "	16.8	237.3	10 10	20.54 23.73	, 2 00	
and Stake No. 13	6.5 "	4.0 "	17.0 "	249.7	10	24.97	2 00	
Between Stake No. 14.	7.7	4.0 "	19.4 "	293.2	10	29.32	2 00	31 32
and Stake No. 15.	6.5	4.0	17.0	293.2	10	29.62	2 0 0	
Between Stake No. 16.	7.0 *	4.0 "	18.0 "	257.9	10		2 00	ACCESSION OF THE PROPERTY OF T
and Stake No. 17.	7.5 "	4.0 "	19.0	302.3		25,79	2 00	
	8.2	4.0	20.4 "		10	30,23	. 3 oo	
Between Stake No. 18.		W-19-11		344.9	10	34.49		36 49
and Stake No. 19.	9.4	4.0 "	22.8 "	418.5 4,929.8	10	41.85 \$ 492.98	\$ 38.00	\$ 53 2 0.98

Page 2.

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in ______ Ditch No. == 53 ==

							4	4	
	(1)	(2)	(3)	(4)	(5)	(6)		(7)	
SECTION	DEPTH OF CUT	WIDTH OF CUT AT BOTTOM	WIDTH OF CUT AT TOP	TO BE REMOVED	Estimated Cost Per Cubic Yar	Character of Other Expenses, Inclu and Expenses of Inspecting W With Total Per S	Total Estimated Cost per Section		
					\$ CTS.		\$ ¢тs.		стѕ.
Between Stake No. 20.	8.7 ft.	4.0 ft.:	21.4 ft.:	437.9	10	\$ 43.79	2 00	45	79
and Stake No. 21.	7.1	4.0 "	18.2 "	350.6	10	35,06	2 00	37	06
Between Stake No. 22.	7.9	4.0	17.8 "	285.2	10	28.52	2 00	30	52
and Stake No.: 23.	7.2	4.0	18.4 "	288.6	10	28,86	2 00	30	86
Between Stake No. 28.1	7.4	4.0 ":	18.8 "	30 6 ,5	10	30,55	2 00	32	55
and Stake No. 25.	8.1	4.0	20.2 "	337.7	10	33.77	2 00	35	77
Between Stake No. 26.	7.8 "	4.0 ",	19.6 "	352.0	10	35, 20	2 00	37	20
and Stake No. 27.	8.0 *	4.0	20.0 "	348.2	10	34.82	2 00	36	82
Between Stake No. 28.	8.0 "	4.0 . "	20.0 **	355,5	10	35.55	20(37	55
and Stake No. 29.	7.5	4.0 ",	19.0 "	377.7	10	37.77	2 00	39	77
Between Stake No. 🛊 11	7.7	4.0 "	19.4 "	40.0	10	4.00		4	00
$and\ Stake\ No.$				3,478.9		\$ 347.89	20 00	\$ 367	89
Between Stake No.								Facilities and the second seco	
and Stake No.								The second secon	
Between Stake No.					- 1	DOE POLICE PRODUCTION OF THE POLICE PRODUCTION		Parameter comments of the contract of the cont	
and Stake No.									
Between Stake No.									
and Stake No.									
Between Stake No.							•	Modern and the second	
and Stake No.					Bioring various in the second			99000-0	

Page. No. 1
Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in Branch No. 3. Ditch No. 53

SECTION	(1) DEPTH OF CUT	(2) WIDTH OF CUT AT BOTTOM	(3) WIDTH OF CUT AT TOP	(4) NO. OF CUBIC YARDS TO BE REMOVED	(5) Estimated Cost Per Cubic Yar	Character of Other Expenses and Expenses of Inspec	(6) , Including Preliminary Expenses ting Work until Completed l Per Section	(7) Tota Estimated per Sect	al ed Cos
					\$ CTS.		\$ ¢ts.	.	Стя
Between Stake No. 0.	6.8 ft.	4.0 ft.	10.6 ft.						Market and an article and article article and article and article article and article article article and article article and article
and Stake No. 1.	6.9	40 "	17.9	273.5	10	\$ 27.53	2 00	\$ 29.	.53
Between Stake No. 2.	6.0 **	4.0 "	16.0 "	250.5	10	2505	2 00	27	05
and Stake No. 3	6.3 "	4.0 "	16.6 "	231.1	10	23,11	2 0 0	25	11
Between Stake No. 4.	6.1 **	4.0 ",	16.2 "	234.2	10	23,42	2 00	1	•
and Stake No. 5,	6.3 **	4.0 "	16.6 "	234,2	10	23.42	2 00	25	4:
Between Stake No. 6.	6.1 "	6.0 ."	16.2 "	234.2	10	23,42	2 00	25	42
and Stake No. 7.	6.1 "	4.0	16.2 "	228.2	10	22.82	2 00	24	-
Between Stake No. 8.	6.4	4.0	16.8 "	237.3	10	23,73	2 00	25	73
and Stake No. 9.	6.2 "	4.0 "	16.4 "	240.4	10	24.04	2 00	26	04
Between Stake No. 10.	6.2	4.0 "	16.4 "	234.2	10	23.42	2 00	25	42
and Stake No. 11.	6.3 "	4.0 1	16.6 "	237.2	10	23.72	2 00	25	72
Between Stake No. 12.	7.4	4.0 "	18.8 "	276,4	10	27.64	2 00	29	64
and Stake No. 13,	7.7 "	4.0 "	19.4 "	323,0	10	32.30	2 00	34	3(
Between Stake No. 14.	7.4 "	4.0 ."	18.8 "	323,0	10	32.20	2 00	34	30
and Stake No. 15.	7.7 "	4.0 "	19.4 "	323,0	10	32.30	2 00	34	30
Between Stake No. 16.	7.5. "	4.0 "	19.0 "	326.5	10	32,65	2 00	34	65
and Stake No. 17.	7.2 "	4.0 "	18,4 "	309,1	10	30.91	2 00	32	91
Between Stake No. 18.	7.4 "	4.0 "	18,8 "	305,5	10	30.55	3 00	32	55
and Stake No. 19.	7,10 11	4.0	19.6 "	326,6	10	_/ / :: 32 , 66/	2 00	<u> </u>	66
				5,149.9		\$ 514.99	+ 38,00	A STATE OF THE PERSON AND ADDRESS OF THE PERSON ADDRESS OF THE PERSON ADDRESS OF THE PERSON ADDRESS OF THE PERSON AND ADDRESS OF THE PERSON ADDRES	DT 107- 40

Page. No. 2.

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in Branch No. 3 Ditch No. 53.

·		(1)	(2)	(3)	(4)	(5)	(6)		(7)
	SECTION	DEPTH OF CUT	WIDTH OF CUT AT BOTTOM	WIDTH OF CUT AT TOP	NO. OF CUBIC YARDS TO BE REMOVED	Estimated Cost Per Cubic Yar	Character of Other Expenses, Including Prelimir and Expenses of Inspecting Work until Cor With Total Per Section	nary Expenses apleted	Total Estimated Cost per Section
						\$ CTS.		\$ CTS.	\$ CTS.
	Between Stake No. 20.	7.6 ft.	4.0 ft.	19.2 ft.	334.8	10	\$33,48	2 00	\$ 35 48
	and Stake No. 21.	7.7	4.0 "	19.4 "	331.2	10	33.12	2 00	35 12
	Between Stake No. 22.	5.8 "	4.0 "	15.6	272.1	10	27,21	2 00	29 21
	and Stake No. 23.	5.4 "	4.0 "	14.8 "	199.2	10	19.92	2 00	21 92
	Between Stake No. 24.	5.7	4.0 "	15.4	190.8	30	19.08	2 00	21 08
	and Stake No. 25.	5,2	4.0	14.4 "	185.4	*100	.10 18.54	2 00	20 54
	Between Stake No. 🚜	+36 5.1 "	4.0 "	14.2 "	62.8	10	6_28	, 1 , 00,	7 28
	and Stake No.				1,576.3		\$ 157.63	\$ 13 00	\$ 170 63
	Between Stake No.							20000000000000000000000000000000000000	
	and Stake No.								
	Between Stake No.								
	and Stake No.						·		
	Between Stake No.							900000000000000000000000000000000000000	
	$and\ Stake\ No.$								
	Between Stake No.		•					-	
	and Stake No.								
	Between Stake No.								
	and Stake No.								
	Between Stake No.				•				OCCUPATION OF THE PROPERTY OF
water and the second of the se	and Stake No.		California						

Branch Detch #4. J. Main Detch #53.

EXHIBIT 2 OF ENGINEER'S REPORT IN DITCH PROCEEDINGS.

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in ______Ditch No.

	(1)	(2)	(3)	(4)	(5)	(6)			(7)
SECTION	DEPTH OF CUT	WIDTH OF CUT AT BOTTOM	WIDTH OF CUT AT TOP	NO. OF CUBIC YARDS TO BE REMOVED	Estimated Cost Per Cubic Yar	Character of Other Expenses, Including Preli and Expenses of Inspecting Work until With Total Per Section			Total imated Cost or Section
					\$ CTS.		\$ СТS	. \$	CTS.
Between Stake No. 0	5.1 ft.	4.0 ft.	14.2 ft.						and the second s
and Stake No. 1.	5.2 "	4.0 "	14.4 "	174.5	10	\$ 17.45	9-0	0 \$	19 45
Between Stake No. 2.	5.5"	4 0 *,	15.0 "	185.3	10	18.53	2 0	q	20 53
and Stake No. 3.	5,7	4.0	15.4 "	199.1	10	19.91	2 0	¢ .	21 91
Between Stake No. 4.	5.7	4.0 "	15.4 "	204.8	10	20.48	20	o	22 48
and Stake No. 5.	6.1 "	4.0 "	16.2 "	216.4	10	21.64	2 0	0	23 64
Between Stake No. 6.	6.6 "	4.0 ",	17.2 "	243.6	10	24,36	2 0	o	26 36
and Stake No. 7.	7.2	4.0 "	18.4 "	279.0	10	27.90	2 0	0	29 90
Between Stake No. 8.	6.6 "	4.0 "	17.2 "	279.0	10	27.90	20	o · · ·	29 90
and Stake No. 9.	6.4 "	4.0	16.8 "	252.8	10	25,28	2 0	d	27 28
Between Stake No. 10.	7,2 ",	4.0 "	18.4 "	272.6	10	27.26	20	o	29 26
and Stake No. 11.	7.8 "	4.0 "	19.6	319.8	10	31,98	2 0	0	33 98
Between Stake No. 12;.	8.2 ",	4.0 ".	20:4 "	355.8	B o	35,58	2 0	o	37 58
and Stake No. 13.	8.1 "	4.0 "	20.2 "	366.7	10	36,67	2 0	Ö	38 67
Between Stake Na. 79	8.1 "	4.0 "	20.2 "	286.7	10	28.67	20	<u>0</u> .	30 67
and Stake No.				3,636.1	THE PROPERTY OF THE PROPERTY O	\$ 363.61	\$ 28 0	0 \$ 3	91.61
Between Stake No.									The second secon
$and\ Stake\ No.$	•								фетого по
Between Stake No.					POST RESIDENCE OF THE POST OF		The state of the s		:
and Stake No.						*			